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QUESTION 1

You wish to create a M:M relationship between contacts and colleges attended, to be displayed in both a Contacts-
Colleges view and in a Colleges-Contacts view. You decide to implement this by first creating a stand-alone
CX_COLLEGE table. What will you also need to create? (Choose all that apply.) 

A. A Contact/College link. 

B. A College/Contact link. 

C. A College business object. 

D. A College business component. 

E. A join between S_CONTACT and CX_COLLEGE. 

F. An intersection table between S_CONTACT and CX_COLLEGE. 

Correct Answer: ABCDF 

 

QUESTION 2

View the Exhibit. 

Which two fields are on the base table? (Choose two.) 

A. City 

B. CSN 

C. Closed Date 

D. Commit Time 
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E. Contact Account 

F. Calculated Account 

Correct Answer: CD 

 

QUESTION 3

Which Siebel business entity represents businesses external to your company that could be a current or potential client,
business partner, or competitor? 

A. Contact 

B. Account 

C. Position 

D. Opportunity 

Correct Answer: B 

 

QUESTION 4

Which describes database authentication? 

A. It is the default authentication method for Siebel applications. 

B. It typically uses a single reserved database login for all users. 

C. It requires additional infrastructure components, such as security adapters. 

D. User authentication is performed by a third-party service at the Web server level. 

Correct Answer: A 

 

QUESTION 5

John has been added as a non-employee user of the application. Which two statements are true about non-employee
users of the application? (Choose two.) 

A. A user must have at least one position. 

B. A user must have at least one responsibility. 

C. A user must be assigned to at least one division. 

D. A user must be assigned to at least one organization. 

E. A user must be assigned to at least one access group. 

F. A user must be authenticated; for example, by having credentials such as a username and password. 
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Correct Answer: BF 
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